Pre — Caiculus 30
Introduction to Transformations
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For each graph apply the following transformation and graph the function on the same grid.

1. Translate the graph 2 units to the left
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2. Translate the graph 5 units down O
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m 3. Translate the graph 2 units right and 3 units up
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4. Leaving the x-value the same, multiply the y-value of each point by 2.
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5. Leaving the y-value the same, multiply the x-value of each point by 2.
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6. Switch the x and y values for each point. Example (2, -3) becomes (-3, 2)
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